Unit 2 Review package ANSWER KEY

1. Both entropy and enthalpy favour the forward direction, therefore the reaction
proceeds 100% to the right (“to completion”), and therefore equilibrium can not be

attained.

2. If all three have the same starting molarity, then this means that the reaction
must proceed to the right to increase the HI as the mole stoichiometry from the

balanced equation suggests it should be 2HI : 1H,: 11,

3. at 1000°C, reaction shifts left (Stressl) and the [NH;] would decrease

1 A 12 C 23 B 34 A
2 C 13 C 24 A 35 C
3 D 14 A 25 B 36 B
4 B 15 D 26 B 37 D
5 A 16 C 27 A 38 C
6 C 17 D 28 C 39 D
7 B 18 D 29 A 40 D
8 A 19 D 30 D 41 B
9 D 20 C 31 D 42 B
10 A 21 C 32 D 43 B
11 B 22 A 33 C

at 100°C, the rate of the reaction would be much too low

5. This reaction is endothermic since the K is increasing when the Temperature is

increased. K4 T §# Ko T

6. Keq =(0.20
7. x=0.14; [Hy]=0.76 M
8. x=18; [CO]=1.8M

[CO]=23M
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